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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 472 58.77| #h L4t | 0.00 ~ 0.00| 1.65 8.80 s 1.00f 500 ~ 5.00 58.77| #h L4+ | 500 ~ 500 1.65 8.80
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 4.67 58.20| Z#hLlst | 0.00 ~ 0.00] 1.62 8.67 s 1.00f 500 ~ 5.00 58.20f #h L4t | 5.00 ~ 500 1.62 8.67
3 100kN/m##8 %% 1.00{0.00 ~ 1.04 115.64| 3m%x#B 25 = Kad = = —| 100kN/mM%#2Z % 1.00{ 12.68 ~ 18.63 115.64| 3m%x#B 25 =l ~ - - =
s 1.00{1.04 ~ 8.83 100.00f Z=hkl4t+ |0.00 ~ 8.83] 2.10 11.22 s 1.00f 500 ~ 12.68 100.00f Z=hl4t | 5.00 ~ 18.63| 2.10 11.22
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
ZHnLs 1.00/0.00 ~ 743 94.89| ZhLlst | 000 ~ 7.43| 1.94 10.40 s 1.00f 500 ~ 11.15 94.89 #h L4t | 5.00 ~ 11.15] 1.94 10.40
5 100kN/m##8 %% 1.00]0.00 ~ 0.91 113.63| 3m%x#B=x 5 = Kad = = —| 100kN/mM%#2 % % 1.00{ 10.53 ~ 13.24 113.63| 3m%x#B25 =l ~ - - =
s 1.00/ 091 ~ 8.69 100.00f Zhki4t |0.00 ~ 8.69] 2.19 11.71 s 1.00f 5.00 ~ 10.53 100.00| Z=hl4t | 5.00 ~ 13.24] 2.19 11.71
6 100kN/m##8 %% 1.00{0.00 ~ 0.22 103.29| 3m%*x#B 25 = Kad = = —| 100kN/mM%#2Z % 1.00{ 10.58 ~ 11.17 103.29| 3m%x#B 25 =l ~ - - =
s 1.00]0.22 ~ 8.01 100.00f Zhkl4t |0.00 ~ 8.01] 2.24 11.98 s 1.00f 5.00 ~ 10.58 100.00f Zhl4t | 5.00 ~ 11.17| 2.24 11.98
7 100kN/m##8 %% 1.00{ 0.00 ~ 0.98 114.65|3m%x#B2 5 = Kad = = —| 100kN/mM%#2 % % 1.00{ 1204 ~ 16.64 114.65| 3m%x#B 25 =l ~ - - =
s 1.00/ 098 ~ 8.76 100.00f Z=hki4t |0.00 ~ 8.76] 2.13 11.41 s 1.00f 500 ~ 12.04 100.00| Zhl4t | 5.00 ~ 16.64] 2.13 11.41
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 7.25 92.35| #nLlst 1000 ~ 7.25| 1.93 10.34 s 1.00f 5.00 ~ 10.75 9235 #hLlst | 5.00 ~ 10.75| 1.93 10.34
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 4.70 58.61| =hLlst |0.00 ~ 0.00] 1.64 8.76 s 1.00f 500 ~ 5.00 58.61| =hLl4t | 500 ~ 500 1.64 8.76
10 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 4.70 58.60| =t Llst |0.00 ~ 0.00] 1.64 8.76 s 1.00f 500 ~ 5.00 58.60| =nLl4t | 500 ~ 500 1.64 8.76
» 100kN/mM%#BZ 5 -l -~ = -|3mEBZ 5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00{0.00 ~ 5.10 63.59| #nLlst |0.00 ~ 5.10| 2.04 10.93 s 1.00f 500 ~ 6.50 63.59| =hLl4t | 500 ~ 6.50[ 2.04 10.93
12 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
Fhst -l -~ = -| 2 st -~ = = = st = -~ = -| Zh st -~ = = =
13 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
Fhst -l -~ = -| 2 st -~ = = = st = -~ = -| Zh st -~ = = =
14 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 5.36 66.83| = Llst |0.00 ~ 0.00|] 1.63 8.70 s 1.00f 500 ~ 6.00 66.83| =nLl4t | 500 ~ 6.00f 1.63 8.70
15 100kN/mM%#BZ 5 -l -~ = -|3mEBZ 5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 6.59 83.06| = Llst |0.00 ~ 0.00| 1.72 9.20 s 1.00f 500 ~ 7.90 83.06] =hbLlst | 500 ~ 7.90| 1.72 92_0




